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1 Boundary matching conditions for a string

a) Apply the matching conditions to relate Ay, Ay, By and Bs.

b) Express the matching conditions using matrices:
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2 Reflection and transmission of waves along a string

Consider waves on a string with a discontinuity at z = 0. Suppose that the waves are incident
from the left with amplitude 4 > 0.

a) Determine conditions under which the reflected waves have “negative” amplitude. In
such circumstances, what would the negative amplitude imply?

b) Does the transmitted wave ever have a “negative” amplitude?

¢) Determine conditions under which the amplitude of the transmitted wave is greater than
that of the incident wave.

d} Can the reflected wave ever have a greater amplitude than the transmitted wave?
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